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1 | RIGHDKE 5 18 147 262 46 35.1 1 |ERERE 5 18 34 9 6 26.5
2 |EEEERE 5 18 763 263 66 34.5 2 [RIEfILKE 5 18 14 3 1 21.4
3 |BEABRERE 5 20 840 271 75 33.0 3 (MNEERE 5 17 26 5 4 19.2
4 | EEXRE 5 17 705 229 60 32.5 4 [IEEKE 5 17 32 6 2 18.8
5 |ERBXFEHKRE 5 20 819 246 65 30.0 5 [BARBRERE 5 20 8 1 2 12.5
6 |tEE X% 5 17 677 166 72 24.5 6 |EREXFEHKE 5 20 9 0 2 0.0
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1 |BARERS 5 20 840 33.0 276 1 277 1 |EEEXRE 5 18 30 1.67
2 | SEEXRE 5 18 763 34.5 254 9 263 2 (A EERE 5 17 19 1.12
3 | RIGHLKE 5 18 147 35.1 259 3 262 3 [iEEXZE 5 17 18 1.06
4 [EREXFEHKRE 5 20 819 30.0 246 0 246 4 [ERELXFEHKE 5 20 21 1.05
5 | MERKE 5 17 705 32.5 224 5 229 4 [BAREERE 5 20 21 1.05
6 |tEEX¥ 5 17 677 24.5 160 6 166 6 [RUGHILKE 5 18 1 0.61
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1 [BREEKRE 5 20 441 29 140 29 12.9 1 |EEEXRE 5 18 344 | 243 0 101 70.6
2 |FEREEXRSE 5 18 433 24 133 21 12.0 2 ([NEEXRE 5 17 342 | 241 0 101 70.5
3| MERKRE 5 17 376 19 114 25 11.0 3 [BAREXRE 5 20 402 | 282 0 120 70.1
4 [fEEKRZ 5 17 298 15 79 17 10.2 4 [iEE XS 5 17 369 | 243 0 126 65.9
5 | RIGHILKE 5 18 427 20 104 17 9.8 5 [EREXFEKRE 5 20 428 | 267 0 161 62.4
6 |EREXFEHRE 5 20 401 20 102 28 9.6 6 |RIGHIDKE 5 18 308 | 189 0 119 61.4
H—IPER (%) =(H—EXI—ZAX100+3E x 25—k 8 x25) +3iTH Y—TLI—TRUE (%) = (B [E] x 100+ Ih [R] x 50) +$T#
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